
Item Part Number Part Description

MAYTAG  MFS55PNAVS  Parts Diagram - 03 - DOOR LOCK PARTS

1 23003861 DOORLOCK, COMPLETE
2 Y23002898 GROUND, PLATE LOCK
3 W10286302 COIL SPRING
4 23003107 LOCK HOOK MTG PLATE BOTTOM
5 23003108 PLATE, DECOUPLING
6 23003864 COVER, LOCKING DEVICE
7 23002473 RUBBER, PROTECTIVE
9 W10286304 DOOR LOCK BLOCK

10 W10286305 DOOR LOCK WIRE HARNESS MCG AC
11 23001140 LOCKING BAR
12 23002899 HANDLE, LOCKING PART
13 23001142 RETAINER, LOCK TUBE (DIA.4X45)
14 23001143 LOCK TUBE (DIA. 4X23.5 STNLS)
15 23002337 MICROSWITCH W/ ROLLER ARM
16 23001145 SERVICE SWITCH
17 23002903 SOLENOID SPRING
18 23001146 SOLENOID
19 23001148 COIL SPRING, HANDLE LATCH BAR
20 23001149 LEAF SPRING, LATCH BAR
21 23002479 PASSAGE, CABLE
22 23001136 WASHER
23 23002869 SCREW (M3X6)
24 23003114 SCREW (M4X8)        LU

© PWS Inc. the Laundry Companywww.pwslaundry.com (323) 490-1900 Page 1



Item Part Number Part Description

MAYTAG  MFS55PNAVS  Parts Diagram - 03 - DOOR LOCK PARTS

26 23002869 SCREW (M3X6)
27 23001131 SCREW (M3 X 14 CROSS RECESSED)
28 23001137 RING, RETAINING (G10)
29 23003116 SCREW (M5X30)
32 23002722 SCREW (M6X12)
34 23004351 COVER, DOOR LOCK
40 23003863 MICROSWITCH INSULATING WASHER
41 23002902 EMERGENCY OPENING LEVER
42 23001152 CORD, EMERGENCY OPENING
43 W10286306 SHIMS

© PWS Inc. the Laundry Companywww.pwslaundry.com (323) 490-1900 Page 2


